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1. Use technology to graph each of the vector field equations. Attach the graphs. On each graph
note any curves where one component is zero (horizontal or Vertical vectors: these are called
nuliclines). Determine if either of the fields is conservative. (20 points)
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aph. Evaluate your integral. (8 points)
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Instructions: Show all work. Give exact answers unless specifically a%ked to round. All complex

numbers should be stated in standard form, and all complex fractions should be simplified. If you do not
show work, problems will be graded as “all or nothing” for the answer only; partial credit will not be
possible and any credit awarded for the work will not be available.

6. Convert the triple integrals to the given coordinate systems and then complete the integration.
Describe the region being integrated (over). (10 points each‘
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10. Evaluate the line

e Integral f. 2xyzqds on the path 7(¢) = tR+ 3t + ik on [0,1]. (8 points
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